Single Cylinder Handleset Rosette
Installation Instructions

Note: Handlesets fit doors 1-3/4" to 2-1/4" thick.

Updated September 2015
Deadbolt
USE DOOR PREPARATION TEMPLATE Deadbot A
i | Latch Deadbolt Faceplate
e bt . | | (Part#1) | (Part#14)
S Doe a0 s \% . 3/4” Latch & Strike
— L ‘ ° °95 Wood Screws
M Edge Bore H(gles | [+ /S (Part #2)
— p . ‘ 50 & N
& "v—\ Handleset Latch ,@
_ )‘/‘, ; | (Part #13) ~
@ i | S, Latch Bolt
- ; R
. I ! )5S
T [ e | | ’ \\ , .
L . | 3/4” Latch & Strike
Cross Bore Holes Edge Bore Holes A 1 | Rotate latch Wood Screws
i } bolt so curved (Part #2)

—
— surface faces I';atch I
— " door jamb. aceplate
\ DDOl"'ﬂSIdE J (Pan #]4)
» Door-Outside

Cylinder Assembly (part #4)

Tailpiece must be
VERTICAL during
installation.

Pl Spin Ring (part #3C)

\\’ @\\ A
M (B)

\/?)\ dl

M e (¥ g

Deadbolt Tongue must
be EXTENDED during
installation.

Escutcheon
(part # 4 )/
Door-Inside J Door-Inside
Deadbolt Outside Assembly Thumbturn
Adaptor Plate ‘ ==, (part #8) Assembly
(part #e) LENT (part #7)
N } )B: V-
Q) &g T
§</ 5/8" h'/
machine screws
\/ G 1 art #8
234 ‘ % iii' el % vl '
Machine Screws | ) L H
(part #7) | | ' |
| |
Door Inside ™~ Door-Inside ™
1-3/4” Machine Screws  |nterior Knob
Cylinder (part #20) (Part #19)
Assembly
(part#s 4&5)
Dust Box
(Part#10)  Door Frame
Reinforcer
(Part #11)
Door Strike Plate
Exterior Stop (Part #13)
Grip Set Trim
(part #17)
Lower Mounting Screw
‘ (p}rt#B)
Mounting Screw Cover\ 3 Wood
(part# 24) 00
o\ Screws
Screw Cover Adapter (Part #12) .3/ 4’ Latch &
(part22) Strike Wood Screw
Door-Outside Door-Inside Door-Outside (Part #3)

gr&l%d@%r For assistance call 1-800-522-7336 Mon-Fri, 8 am to 5 pm Mountain Time PK161 Rev 2 09162015



: 320[g uonejoy-nuy LT
; 19S3[pUBH 10] B[] MLIS 97
g Josa|pueH 10j Xoqisn(] ST
| I9A0)) MAIDG Sununoy ¥z
(syIBua] 7) ma10§ SUNUNOJN J9MO] Id
1oydepy 12A0) Malag T

UONDIIISUT 2112S0Y 40f papaaut JON Iz
SMaIDS SUNUNOJA] 99S0Y , b/€- | 0z

WwiLL], apisu] 61

UOND]IDISUT 2112S0Y u@\ papaau JoN 8§
o[putdg 1esapuey VLl

1as-dun Jornxy L1

Suny A1moag 9]

yoje] Joj aejdaoe <]

30q yoreT] Vi

o1e ] 19s3]puey ¥l

logpea(] 10} 21e[d LIS €l

(7) smardg poom € zl

12010JUIDY ARl ] 100(] 11

Jjjoqpea(] 10) Xoqisngg 01

(2) smaldg auryorpy wWmquiny [, 8/S 6

A[qQuiassy wmquuny .

(syiSua| 7 Jo yoed ) SmaIdg aulyoeA|
ae|d 1oidepy jjoqpeaQ

uoay2INosy

sury urdg Vi

A|quIassy 1apuljAD) +

(8) 5MaI108 POOA LIS 7 YT | €
jjoqpea(q Joj aredose, z

Hoqpea( Vi

}9S9[pueH 9}19S0Y IISUI[AD) d[3UIg T
Suimer(q papordxyg

LA =0 el =]

yeg yeg



Single Cylinder Handleset Long Plate
Installation Instructions

Note: Handlesets fit doors 1-3/4" to 2-1/4" thick.

(Part #3)

—
— surface faces I';atch I
— " door jamb. aceplate
\ DDOl"'ﬂSIdE J (Pan #]5)
= Door-Outside

Cylinder Assembly (part #4)

Tailpiece must be
VERTICAL during
installation.

Spin Ring (part #5A)

Updated September 2015
Deadbolt
USE DOOR PREPARATION TEMPLATE Deadbot A
i | Latch Deadbolt Faceplate
e bt . || (Part#1) | (Part#2)
s = R - 34’ Latch & Strike
— T ! o °95 Vgood#gcrews
e Edge Bore H(gles ‘ e A (Part #3)
— p . ‘ 50 & N
& "v—\ Handleset Latch ,@
_ T (Part #14) ~
- o~ B A Latch Bol
/ | ‘ [ —" (Part #14A)
< ‘.\'_‘." B T i 7 ~
- : B N .
1l \ | 3/4” Latch & Strike
Cross Bore Holes Edge Bore Holes A 1 | Rotate latch Wood Screws
1 bolt so curved
|

\\’ @\\ A
M (B)

\/?)\ dl

M e (¥ g

Deadbolt Tongue must
be EXTENDED during
installation.

Escutcheon
(part #58) —
Door-Inside J Door-Inside
Deadbolt Outside Assembly Thumbturn
Adaptor Plate ‘ ==, (part #4) Assembly

(part #e)
\

AT (part #8)

|
~ | )
5 |
b 4 ;:K @3
|
|
|

,
7

/
5/8” machine screws

S (part #9) %
234 W) vl vl L
Machine Screws ) ’
(part #2) |

E
L . | - |

Door Inside ™

ey |
Door-Inside ™}~
3/4" Plate Mounting Screws Machine Screws
Cylinder (part #20) .
Assembly (part 21)

(part #s 4, 5A, 5B & 16)

Dust Box

(Part#10) Door Frame
Reinforcer
(Part #11)

‘ gto » Strike Plate
(E)r(it;rslgi Inside Long Plate Tri%e (Part P 3)
(part #17) (Part#io)—

Lower Mounting Screw

‘ (p}rt#B)
Mounting Screw Cover\

(part# 24) 3" Wood
0\ Screws
Screw Cover Adapter (Part #12) /4 Latch &
(part#22) Strike Wood Screw
Door-Outside Door-Inside Door-Outside (Part #3)

gr&l%d@%r For assistance call 1-800-522-7336 Mon-Fri, 8 am to 5 pm Mountain Time Page 1-PK161 Rev.2 09162015



“ASNOHTAVM

DITVISON

= (%&Q%@m@&

\:

1989[pueH 10J Ae[J NS 9T
Jos9[puey I0J x0qisng ST
IOA0)) MAIOS SUNUNOA v
MII10S SUTIUNOIA JOMOT ,.8/L-T €T
10)depy 10A0) MAI0S 44
(«b/€-1 10 /1-1) SMAIOG QUIYOBIN 1T
SMa10§ SUNUNOIN Ae[d . /€ 0T
aje]d Suo apisuf 61
aje[d Sununoy 81
a[purdg 10so[puey VLI
19s-dLin) J0L19IXY L1
Sury Amosg 91
yoje] 1oy ojejdooe,g SI
10q yore] \44!
o1 1989[pueH 1
1j0qpea( 103 e[ NS €1
(7) sM310 POOM € 1
I90I0JUIdy durel] 100 11
1j0qpea(J 10§ XoqIsn(q 01
SMIIOS JUIYIRIA ,,8/S 6
Ajquudssy wmyquunyJ, 8
SMAIOS SUIYORIN . /€-C L
de[d 191depy jogpesq 9
U0dYIINISH q¢
Sury uidg v$
Teq 1opurj) \4%
A[quiassy 1opur[£) ¥
(8) sMa10G POOA\ LIS 7 YT /€ €
jjogpea( 1oy arerdaoe g e
ogpes
19sa[puey 9e[J Suoq Lpurfd) afdurg wrTowwa
uondrnsIq Jaquin N
w:.maﬂ.HQ ﬁ@ﬁOﬁme e yed



